9/11/2017 University of Washington to Airway Heights, WA - Google Maps

University of Washington to Airway Heights, WA Drive 279 miles, 4-5h
Google Maps y 9 y Helg

Settings: Avoid Ferries, Avoid Tolls, Depart Monday 8:00am (to find the most economical route)

University of Washington
Seattle, WA 98195

Get on WA-520 W

1 min (0.4 mi)
t 1. Head south on Montlake Blvd NE toward E Shelby St
0.2mi
A 2. Use the right lane to merge onto WA-520 W via the ramp to Interstate 5/Portland/Vancouver BC
0.2 mi
Follow 1-90 E to WA-902 W in Spokane County. Take exit 272 from I-90 E
4 h 2 min (274 mi)
A 3. Merge onto WA-520 W
0.4mi
N 4. Use any lane to merge onto I-5 S toward Portland
2.5mi
t 5. Continue straight to stayon I-5 S
0.2mi
P’ 6. Usetheright 2 lanes to take exit 164 for Interstate 90 E toward Bellevue/Spokane
1.2mi
F YA Merge onto I-90 E
1.0 mi
Y 8. Keep left at the fork to stay on 1-90 E
55mi
t 9. Continue straight to stay on I-90 E
16.0mi
t 10. Continue straight to stay on I-90 E
246 mi
¥ 11. Take exit 272 for State Route 902 W toward Medical Lake
0.2mi
Follow S Hayford Rd and US-2 W to W 12th Ave in Airway Heights
70 min (5.5 mi)
€ 12. Turn left onto WA-902 W
0.3 mi
r> 13. Turnright onto S Hayford Rd
0.2mi
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€ 14. Turn left to stay on S Hayford Rd

€ 15. Turnleft onto US-2 W

r* 16. Turnright onto S Lundstrom St

€ 17. Turn left onto W 12th Ave
Airway Heights

Washington

University of Washington to Airway Heights, WA - Google Maps

3.4 mi
1.5mi
0.1 mi

46 ft

These directions are for planning purposes only. You may find that construction projects, traffic, weather, or other events may cause
conditions to differ from the map results, and you should plan your route accordingly. You must obey all signs or notices regarding your

route.
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